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Problem 1: (5 points)

'a) Find the equivalent resistor (Rap) in the four-way power divider circuit.
(Hint: Before attempting to solve; examine the circuit carefully, redraw, look for patterns and
. - reit Ira

symmetry, You“should get an integer answer)
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b) Two delicate devices are rated as shown in Fi

needed to power the devices usi\rlg;a'gf}édmtic
(Hint: force the fuse fo work to its maximum limit)
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Problem 2: (5 points)
Use superposition to obtain v, in the circuit shown.
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Problem 3: (5 points)
Use source transformation to obtain vy in the circuit shown.
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Problem 4: (5 points
Determine the gairy vio/vs pof the transistor 'lmphllu‘ circuit.

(Note that some resistor values are given in KQ)
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